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Topic: Parallel and Perpendicular lines- Worksheet 1

Do the following:

1.

Find the slope of a line
parallel to the line whose
equationis x +y = 2.

d; L d If the slope of d; is
3/2,and the slope of d; is
(x+2)/3, find the value of x.

Find the slope of a line
parallel to a line whose slope
is (2/3).

Find the slope of a line
parallel to the line whose
equation isy + 4x = 15.

d; || dz If the slope of d; is
4x/7,and the slope of d; is
(x+12)/16, find the value of
X.

4.

10.

Find the slope of a line perpendicular to
the line whose equation is 3y + 6x =
15.

d; L d, If the slope of d; is 4/6,and the
slope of d, is 8/(3x-8), find the value of
X.

Find the slope of the line perpendicular
to a line whose slope is (3/8).

Find the slope of a line perpendicular to
the line whose equation is 2y + x = 8.

d; || d2 If the slope of d1 is 2/3,and the
slope of d; is 4/(x-5), find the value of
X.
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Topic: Parallel and Perpendicular lines- Worksheet 2

Do the following:

1.

Find the slope of a line 2.
parallel to the line whose
equationisy - x = 5.

my 1+ my If the slope of m1 is 4.
2/5,and the slope of my is
(x+6)/8, find the value of x.

Find the slope of a line 6.
parallel to a line whose slope
is (3/4).

Find the slope of a line 8.
parallel to the line whose
equation isy + 3x = 15.

m; | m2 If the slope of m; is  10.

2x/5,and the slope of m; is
(x+9)/13, find the value of x.

Find the slope of a line perpendicular to
the line whose equation is 4y + 12x =
16.

m; 1+ m; If the slope of m; is 5/8,and
the slope of m, is 6/(2x-12), find the
value of x.

Find the slope of the line perpendicular
to a line whose slope is (2/5).

Find the slope of a line perpendicular to
the line whose equation is 3y + x = 9.

m; | m2 If the slope of m; is 1/4,and
the slope of m, is 6/(x-7), find the
value of x.
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Topic: Parallel and Perpendicular lines- Worksheet 3

Do the following:

1.

Find the slope of a line 2.
parallel to the line whose
equation is y - 2x = 10.

k11 ko If the slope of k; is 4.
4/3,and the slope of ks is
(x+3)/4, find the value of x.

Find the slope of a line 6.
parallel to a line whose slope
is (1/6).

Find the slope of a line 8.
parallel to the line whose
equation isy + 4x = 18.

ki | ke If the slope of k; is 10.

x/6,and the slope of k; is
(x+3)/12, find the value of x.

Find the slope of a line perpendicular to
the line whose equation is 2y + 8x =
10.

k11 ko If the slope of k; is 4/5,and the
slope of k; is 5/(3x-11), find the value
of x.

Find the slope of the line perpendicular
to a line whose slope is (4/7).

Find the slope of a line perpendicular to
the line whose equation is 4y + 2x = 8.

ki | ko If the slope of k; is 3/5,and the
slope of k; is 5/(x-5), find the value of
X.
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Topic: Parallel and Perpendicular lines- Worksheet 4

Do the following:

1.

Find the slope of a line 2.
parallel to the line whose
equation isy - 3x = 12.

p1 L p2 If the slope of p; is 4.
5/6,and the slope of p; is
(x+6)/5, find the value of x.

Find the slope of a line 6.
parallel to a line whose slope
is (2/9).

Find the slope of a line 8.
parallel to the line whose
equation isy + 2x = 16.

p1 | p2 If the slope of p; is 10.

2x/7,and the slope of p; is
(x+6)/14, find the value of x.

Find the slope of a line perpendicular to
the line whose equation is 3y + 12x =
18.

p1 L p2 If the slope of p; is 5/6,and the
slope of p; is 6/(4x-14), find the value
of x.

Find the slope of the line perpendicular
to a line whose slope is (3/8).

Find the slope of a line perpendicular to
the line whose equation is 5y + 4x =
10.

p1 | p2 If the slope of p; is 4/6,and the
slope of p; is 8/(x-9), find the value of
X.
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Topic: Parallel and Perpendicular lines- Worksheet 5

Do the following:

1.

Find the slope of a line
parallel to the line whose
equation isy - 4x = 16.

s11 s, If the slope of s; is
2/9,and the slope of s, is
(x+2)/6, find the value of x.

Find the slope of a line
parallel to a line whose slope
is (3/6).

Find the slope of a line
parallel to the line whose
equation isy + 3x = 18.

sy || sz If the slope of s; is
3x/4,and the slope of s, is

(x+3)/16, find the value of x.

10.

Find the slope of a line perpendicular to
the line whose equation is 2y + 6x =
14.

s11 s, If the slope of s; is 6/7,and the
slope of s, is 8/(2x-10), find the value
of x.

Find the slope of the line perpendicular
to a line whose slope is (4/9).

Find the slope of a line perpendicular to
the line whose equation is 4y + 3x =
12.

sy | sz If the slope of s; is 2/5,and the
slope of s, is 6/(x-4), find the value of
X.
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